(1) Adjustable Center Support Frame
(8) SS socket head 6m x 12m screws
(26) PH wood screws #10 x .75"

DL 2 Series | T-bases & Panel Mount

G ol = 0 Q| o O
D ) D . ] T ol
T-Leg Series

(2) End cap braces
(4) SS Socket head screws 6m thread

(2) DL Lift columns (per design size and color) (8) PH wood screws #10 x .75"

—_— .« « —

(1) control box

(1) movement control

switch (2) PH wood screws
(2) FH wood screws #8x 1.75"
#6 x 1.25"

d o

(2) 2M motor cables
[ ]

[ ]

(1) Wire channel (varying lengths)
(5) wood screws #8 x .5"

Step 2

(2) T-Leg bases
(per design / finish / size)
(4) Adj leveling glides
(8) Socket head screws 6m thread

[ ] OR
a
i B@]E]

Panel mount Series
(2) Upper and Lower
panel mount brackets
(8) Socket head screws 6m thread
(8) PH wood screws #10 x .75"

(1) power supply cable 10'
(1) power supply cable 2'

(1) power supply cable 10
(2) PH wood screws #8 x 1.5"

Mark Center lines of the top

Step 3

(1) Attach Lift columns with

SS socket head 6m x 12m screws

(2) Attach End brackets with
SS socket head 6m x 12m screws

[ : (4) Slide Assembly into position
(5) Tighten (8) socket head machine
:ﬁ screws on the assembly frame
2 ® (J r

L]

Top center line and
screw down with
PH wood screws #10 x .75"

+
|0 YA )
(3) Center Assembly over —V l

(6) Attach Frame and end brackets
to the Top with PH wood screws #10 x .75"

Step 4

T-Leg series
Attach T-Leg bases with
Socket head 6m thread screws

N fe *] L1
o o 2 02 v T 3 v i
o o l a a a a a 0 l o o
e o] [

L—

Attach T-Leg bases leveling glides

|

Step 5

Attach Control box to the
bottom of the top with
PH wood screws #8 x 1.75"

Panel Mount Series

In place of T-Leg bases
(1) Slide on Upper Panel Mount bracket
(2) Bolt on Lower Panel mount bracket
with Socket head 6m screws

Plug in motor cable

Plug movement

Plug in motor cable
[e
& @ = v v)
P G———=——a)

» Control box, control switch into A1
3 Plug Safety Stop
e dongal into A2
- (if supplied)
Plug in motor cable
\ R
N\ 4

Plug in power supply cable
(Loop cord in to groove on
bottom of control box before

securing to Top) \—
Optional power supply connection

with FH wood screws #6 x 1.25"

In place of the 10' power supply cable
you can use the 2' power supply

L)) 1D
Plug in motor cable
(] . ]
=
Locate and attach
Movement control switch
Peel off adhesive release tape on the bottom of
the wire management channel
Position the wire management channel on the
bottom of the top and press to attach
Step 6 Optional - Attach the wire management channel with
(5) wood screws #8 x .5" (Evenly spaced)
VA
[©] 4 ¥ ] [©]

2l [o Ld 0 o) L1

o o L v w v v v e ®

=" —— [.
L) |0 X 0 o] |

\— Attach the power strip with

PH wood screws #8 x 1.5"

Step 7

Movement control switch programing instructions
e  Go to www.designformmfg.com
e  Select Customer support > Operating manuals

| o o = ont s |
- 0
Customer Phone support hours (559) 412 4541 (M-F) 9:00 to 5:00 PST W

cable and plug it directly into the
power strip

L




